Series ZX

Ejector System/Manifold Specifications

m Manifold Specification Sheet

When ordering the manifold type of
series ZX, use the manifold
specification sheet on page 13-14-18.

Function
Max. number of units

8 units
Supply air from PV port of manifold
for common supply.

Function

When Using Individual Spacer R1

Separates air supply from manifold
and allows units to be used one by one.

Function

Standard Specifications

Port Port size Function
PV port Rc /8 Air supply
EXH port Rc /8 Common exhaust
Weight 1 station: 73 g (50 g per additional station)

Note 1) PD port: Blank
Note 2) Exhaust air from both sides for 4 or more stations of ZX1103 manifold.

Air Supply
Manifold Left side Right side
Supply port location Port PV PS PV PS
L (Left) 0 ° ° °
R (Right) [ ) [ O o
B (Both sides) O [ J O [ J

O: Supply @: Plugged (EXH port is released to atmospheric pressure.)
Note) Blank plugs are attached to all ports of each valve unit.

When Using Individual Spacer R1

It functions as a single unit. Air is supplied from PV port of valve unit. PE port is released to

atmospheric pressure. Other ports are plugged.

Note) When using individual spacer R1, other valves should be provided with dummy spacer R16.
Functions are the same with the standard; common supply from the manifold.

How to Order Manifold

Indicate the vacuum module, blank plate and individual spacer below the manifold base part number.

<Manifold base>

ZZX1 06 1 ||R

<Individual spacer>

ZX1—R1—1

Stations 1 1 Supply port location Arrangement
01 ] 1 R__Right side (PV port on the right side) (First station from the right end of
02| 2 L Leftside (PV port on the left side) the valve side is station 1.)
: i B Both sides (PV port on both sides) Nil All stations
08 | 8 #1 Viewed from the front side of valve unit, 1 Station 1 onl
confirm the port location on the right - - y
Thread of supply and and/or left side. : :
exhaust valve %2 EXH ports are released to atmospheric 8 Station 8 only
Nil Rc pressure in both sides. *When spacers are mounted alternately,
F G Plugs are always attached to PD ports specify them together.
T NPTF and all ports of the valve unit.

(Ordering example)
ZXX106-R----1 pc. (Manifold base)

%*ZX1101-K15LZ-EC----5 pcs. (Vacuum single unit)

#ZX1-BM1...-1 pc. (Blank plate)

First station from the valve side

13-2-32

(Ordering example)

If installed on station 1 and station 3:
ZZX106-R ------ 1 pc.
*ZX1101-K15LZ-EL ----- 6 pcs.
*ZX1-R1-1

*ZX1-R1-3

#ZX1-R16 -+ 4 pcs.

O
:



Vacuum Module:
Ejector System Series ZX

Manifold/System Circuit Example

When not using individual air pressure supply = When using individual air pressure supply

Dummy spacer
R16 sige ZM
ZH
PV ZU
PV: Air supply port \“‘S\ ZL
PS: Supply valve supply pressure port ——
PD: Air supply port for release valve ZY
PE: Pilot exhaust port
EXH: Common exhaust port —
ZQ
ZF
ZP
- - ZCU
<System circuit example> <System circuit example> —=
PS PD PS PD —
AN vV X A .
PD *—————— P Misc.
PD T
| |
PE T
PE 1
R N U } |
]" N
] -
PS Xe——4—— —T—1

:
]
PV %< — Y =
Sl x|
e v L i
[T e y

Dummy spacer R16

N U Y & PD x——ﬂ?;ru .
| |

PE _/#% N s -
PE - | ‘
g Ny N —

NP -
. |
i al PS 'I hay i
PN
| LA . 3
o) PV A3
H - : )
t 1 - -
Individual spacer R1/
285V Pb v
PV EXH PV EXH
P 13-2-33
< SNC



Series ZX

Ejector System Manifold

Release valve (VJ314)
(Normally closed)
Supply valve (VJ324M)

131.4
End plate
Manifold base 4-¢5.5 mounting holes
611 29.5 Exhaust adapter
Manual override 10| 26 Rcls
(Push and turn 23 30 Adjusting needle
the locking type override.)
1 Adsorption confirmation switch
Manual override TP < ZSP1
(Simply turn the locking Oﬁ B2 N 5 P
type override.) - BENS G ‘ ¥ JRY, ’N’_gl'
[ =
Body (Air operated type) o E - % - @ o= 2
ZX1A — bl 2d L/

) 1 1 = 7@4,0 Ly V3 _F *Ipressure setting trimmer
M5x%0.8 37 2 || VW/A Vacuum switch
{Pilot por) 15— _l L _%5 ZSE2
M5%0.8 Ly | Filter
(External release port) T Q; & Adapter B

Adapter D ©'1(44) Silencer + Ejector

Individual spacer R1 22| 30

374 47
57.6
70.3

Supply valve (VJ114)

(Normally closed)
Release valve (VJ114)

(Normally closed)
Release flow rate

Normally open -
(Manual gve?rid()e t adl'b‘lsst'ng needle
(Simply turn the [ e
locking type om (PD port)
override.) Bl=]0|0
[ o) PD. D, PD, L{)
o § BIREIRIIRLR ol S
0 G I S gl od
© 2 H & o
20| ||5 2|
Pitch
22.5|= 21 M5 (or M6)
(PV port)
Individual air supply port
(mm)
Sympor—3tations| 4 2 3 4 5 6 7 8
L1 33 54 75 96 | 117 | 138 | 159 | 180
L2 45 66 87 108 | 129 | 150 | 171 | 192
L3 50 71 92 113 | 134 | 155 | 176 | 197
13-2-34 P
< SNC

© =
8 Jjj-, *%@)!*E‘: | ®
&»8 ﬂéfr&!ﬁ. o 3B
‘ ! | I g
ot o e[ 18]
s »
_ 2-Rc %
25| 374 Common EXH port
a4

2-Rcls

(PV port)

Individual air supply port



(In the case of

individual air pressure supply)

B cross section

133.9

63.6

Individual spacer R1

25

1

=

suc| e

Xou

1

L
Dummy spacer R16 E g
2@

Dummy spacer R16

Individual spacer R1

A cross section

i

M3 |
Pilot
exhaust port I
(PE port) % =]0|0 |
PD, PD$ PO P !
PE PEXR@PE PD
0l 9 § n% gﬁ %Q’@
| © Py & PV PV &) l:\!@
« 0 1
0
147\ | |6 ~
20 M5 (or M6)
22 5|Pitch = 21 Individual air supply port
(PV port)
M5 (or M6)
Individual air
supply port
(PV port)
=l r
B0
oy !
1 i 0|
of Ll ] o
3 w0l g D | o ‘ ‘ “ g'\.
® R e P P i
1 %) Gv &Y [3vel |
Pitch
M5 x 0.8 4.5 | =21 225
(or M6)
Vacuum pad M5 x 0.8 M5 x 0.8
connection
or M6 (or M6)
port (V port) &/acuur)n pad Adsorption
connection port ~_nozzle
(V port) piping port

Vacuum Module:

Ejector System Series

System circuit example

(Standard)

(Option)
(In the case of

ZX

individual vacuum pressure supply)

PV EXH . PV EXH
_PS PD Individual spacer R1_PSPD
PD : 3 =
PE g‘—][ PEE%“ b
PS. 5 PS g
PV == Individual air 1A
<[5 supply port PV-+{TT: ] F v
- Dummy spacer R16 ==
PD % [ PD z
PE %l{jl« PE %ﬂL_l
s %1 2 %1
; \'s .omj D—aV
Dummy spacer R16
PD PD
External External
release release
port . port o
gg‘r’t"' | Pilot ~ |
ort |1
PS Fl Pobs
PV - PV =
Individual spacer R1 —O—aV Individual spacer R1— - v
PD - PD -
Individual air supp! N i Individual air supply
port Py PPy port PV i
Adapter D= Ps‘;D —av Adapter D 7= SAIN v
PV EXH PV EXH

O
S

13-2-35

i
™
Tl
v
L
o
0
*
B
200
A

Misc.




Series ZX

Ejector System

Type K1

ZzX100-00

ZX1000-K10LO-EO-O 97 "
2 37.4 ,
4-¢5.5 mounting hole
|.28—-1_ Pressure setting trimmer
234 32
26 10| ww
Manual ] 4P
override < ©
EE— T
©
0 [o——<
- 77|
o gi@J s Y 9
7
5 _@f@ & - Y
o I (77, [V | | |
g@ UEEHE
> 7
s B K @ W
Janyy
Pt T
T
Manifold base
(44) Ejector + Silencer
End plate
<
()]
' 5
Release valv < n
\?;legly ﬁﬁ M £oase vae BN H Vacuum switch
TOo
e ZSE2
VJi14 " | " " E% Filter unit
Release flow rate
adjusting needle r
% Vo114 v@a V114 (VU114 i L= }© / 0 /
I
PFy==PS=+PU N (Y= p=s] 0 Tr—1 PD ﬁ\
PD PD To) £ NI ; ‘
PE% oo SR © M =
g pYRpYe 3 @ P 1
| PS | P Ty} V]
PV PV % © ] PS ]
o Blo B | gE | PR\ co
® Plo e &
L 20 5 2-Rc %
22.5 |Pitch =21 374 3 Common EXH port
] 44 2-Rc %
(PV port)
Common air supply pressure port
(mm)
Symbor—>@tons| 4 2 3 4 5 6 7 8
L1 33 54 75 96 | 117 | 138 | 159 | 180
L2 45 66 87 108 | 129 | 150 | 171 | 192
L3 50 71 92 113 | 134 | 155 | 176 | 197
13-2-36

O
:




Vacuum pad

connection port
M5 x 0.8 r
(or M6)

10.7

Bl

4.5 Pitch = 21

O

Vacuum Module:
Ejector System Series ZX

Circuit diagram

EXH
PVPS PD

TS

|
|

13-2-37




Series ZX

Ejector System

SR
'/0\);\)@0\\

Manifold: Type K3

.*;o
%
O/-,o’) 3 S(//Op
/3
Type K3
ZZX1O-00

ZX1000-K3OOO-EC-O

4-05.5 mounting hole

61.1
451 Pressure setting trimmer
10 wlw
Manual override
(Push and turn 23\ ©
the locking
type override.)
m O, B
Ol ftEels | FAIR
& 9
B1E 10 A
o N L
31210 Jany
[5)
319 N
o
Manifold base
End plate Ejector + Silencer
17.5 10 s
o
=
o
Supply valve E i
VJ324M | §8
Manual override Release valve 4 ¢
VJ314 Vacuum switch
i | Z5E2
Release flow rate Filter unit
L — : : adjusting needle
i e 1
I SMCJ|SMCJ|SMC||SM! i o
i N o
o | el 2 |®
o & 3 |
| BS | PS 0 Q |
PV & l vV (X) @
e b C
Ble & 2 ©0o
20 _2Rcla
25 Ipitch =21 |5 Common EXH port
o 2-Rc %
(PV port)
Common air supply pressure port
(mm)
Symbor—21atons| 4 2 3 4 5 6 7 8
L1 33 54 75 96 117 | 138 | 159 | 180
L2 45 66 87 108 | 129 | 150 | 171 | 192
L3 50 71 92 113 | 134 | 155 | 176 | 197
13-2-38

O
:




Vacuum pad

™™
; —
—_——

connection port
M5 x 0.8 -
(or M6)

%

4.5

Vacuum Module:
Ejector System Series ZX

Circuit diagram

PV EXH
PS PD
YV x O

PDX——e¢— 777

)E%'

SMC 13-2-39

O




Series ZX

Vacuum Pump System/Manifold Specifications

Function
Max. number of units 8 units
. Vacuum supply from PV port of the manifold is common supply.
Function ) .
Air supply from PS port is common supply.

When Using Individual Spacer R1

Separates air supply from manifold and makes units be

AU used one by one.
Specifications
Port Port size Function
PV port Rc /8 External vacuum pump connection
PS port M5 Air supply for vacuum valve
EXH port Rc /8 Common exhaust
Weight 1 station: 73 g (50 g per additional station)

Note 1) PD port: Blank
Note 2) Vacuum from both sides of PV port for 6 or more stations of ZX100 external vacuum pump manifold.

Air Supply
Manifold Left side Right side

Supply port location Port PV PS PV PS
L O O [ J [ J
R [ ] [ ] O O
B O O O O

O: Vacuum supply from PV port ~ O: Air supply from PS port

@: Plugged

m Manifold Specification Sheet

When ordering the manifold type of
series ZX, use the manifold
specification sheet on page 13-14-19. | When Using Individual Spacer R1

It functions as a single unit. Vacuum is supplied from PV port of valve unit. PE port is
released to atmospheric pressure. Other ports are plugged.

Q Note) All ports for each valve unit are provided with plugs.

How to Order Manifold

Indicate the vacuum module, blank plate and individual spacer below the manifold base part number.

<Manifold base> <Individual spacer>
Stations 1 1 Supply port location 1 Arrangement
01 1 Sybo] SUPPIY por Air Supply (I?rst staltlon fzjonj the r{ght1end
02| 2 Y location #1 [Vacuum supply] _ Air supply of the valve side is station 1.)
: : ] ] PV port on PS port on Nil All stations
08| 8 R [Rightside| . right side | the right side 1 Station 1 only
.| PV porton PS port on : :
Thread of supply L | Leftside | o left side | the left side 8 | Station8only
and exhaust valve ] PV port PS port on « When spacers are mounted
Nl Ro B |Bothsides| ) poth sides | both sides alterately, specify them
F G + 1 Viewed from the front side of valve unit, confirm ogether.
T NPTF the port location on the right and/or left side. (Ordering example)

# 2 EXH ports are released to atmospheric pressure If mounted on station 1 and station 3:
in both sides. Plugs are always attached to PD ZZX106-R -vooveveineinienns 1 pc.
ports and all ports of the valve unit. *ZX100-K15LZ-EC------- 6 pcs.

*ZX1-R1-1
. *ZX1-R1-3
(Ordering example) 0 G 1= L1 S 4 pes.
ZZX106-R:---eeveeveeeeneene 1 pc. (Manifold base)

#ZX100-K15LZ-EC----- 5 pcs. (Vacuum single unit)
#ZX-BM1 v 1 pc. (Blank plate)

13-2-54

O
:



Vacuum Module: .
Vacuum Pump System Series ZX

Manifold/System Circuit Example

When not using individual air pressure supply When using individual air pressure supply

PV:Vacuum supply port

PS: Air supply port for vacuum valve
PD: Air supply port for release valve
PE: Pilot exhaust port

EXH: Common exhaust port

Individual spacer R1_~

<System circuit example> <System circuit example> ZP

ZCU

pv EXH py EXH ——
PS PD

PD Q\JV Dummy spacer R16 QPVS FD AMJ

o | ﬁ o —
PD 1] i
Misc.
PE =

PE '
NPTt
- % N W W W
P8 Xt =

I
i
1
J

PV X< s PS 2 = s
i PV
- I
T | y iy

L)\J'\_/ . . <E>_4 vV

Individual spacer R1

PD¥———e—— P19 PD =1
PE g PE E
R, Wy
- i
! !
i !
e B Y S oA
PV w ]
' L
N v
A
PS PD
PV EXH
V. 13-2-55
ZSNC



Series ZX

Vacuum Pump System Manifold

19.4
End plate
Manifold base
611 175 4-95.5 mounting hole
10114 Adjustment needle
23 32
- Adsorption confirmation
Manual override I switch ZSP1
(Pushandturn = | | 5 f5To | T /T -
the locking type  — gi : ‘ @ Ean N
override.) HEREN Sy - =R o
. ol | GHOD 2
Manual override S E E 10 v o
(Simply turn the Body (Air operated type) ,O—J’/:%ﬁ | < Pressure setting trimmer
locking type override.) M5x0.8 (ZX1A) o . 1%\ Vacuum switch 7SE2
M5X0.8 (Pilot port) 13160 Filter
(External release port) l s L4
P & Adapter B
Il I
Adapter D of 18
Individual spacer R1 (44)
22 35
37.4 45.6
58.3
Supply valve (VJ114)
Release valve (VJ314) (Normally closed)
(Normally closed) M ﬂn Release valve (VJ114) i
Supply valve (VJ324M) (Nﬁéﬂgg}é ?Ilgjveg)te ﬂ B l
(Normally open) -
Manual override if adlj\zgtment needle § Vo
(Simply turn the FIA m (PD port) E : _
locking type d © I
override.) 0|0 J o T [% © i ‘
PO 5 PD e PD s A © POy ‘ I [}
IR — ~ TR 1L 1 o8
rs) )| D) (] i TS o]
PVRl PV PV AUE | © 0|2 _LL P, Lo “ Mo
l A ~ Qt © F‘\’,\.7< Q © *
20| |5 | 9
poal < Q 5 ! 3 2-Rc X%
- M5 (or M6) 25 374 CEZ)%ﬂmon
Pitch = 21 t
fte Individual vacuum supply port IL‘ por
(PV port) 2-M5 2-Rcl%
Common supply port Common vacuum supply port
for vacuum switch valve (PV port)
(PS port)
(mm)
Symbor—tations| 4 2 3 4 5 6 7 8
L1 33 54 75 96 | 117 | 138 | 159 | 180
L2 45 66 87 108 | 129 | 150 | 171 | 192
L3 50 71 92 113 | 134 | 155 | 176 | 197
13-2-56

O



Vacuum Module: i
Vacuum Pump System Series

ZX

(In the case of
individual air pressure

supply)

B cross section

121.9
63.6
25,10
Individual spacer R1 7] cm__?
'EENCIRON % =1
(oL
BSE e
Dummy spacer R16 s %—%
Dummy spacer R16

Individual spacer R1

A cross section

olol | ‘F
@@PE PE %
Olw N S I
/ Pyl Py B PV
& NSt ek Sl Sl
0
1 ~
5 M5 (or M6)
Individual air supply port
: (PV port)
Pitch
22.5|= 21 M5 (or M6)

Individual vacuum
supply port (PV port)

5
T ! T
' | [Te]
0 g ‘ \ ‘ i '02
5| 0 N
3 5| L |@ ‘ o | ! Lo
i -
9 RUB) V-
21941
1
M5 x 0.8 (or M6) 225
Vacuum pad connection port /4.5 Pitch = 21
(V port)
M5 x 0.8 (or M6) M5 x 0.8
Vacuum pad connection port (or M6)
(V port) Adsorption nozzle
piping port

System circuit example

(Standard) (Option)
(In the case of
individual vacuum pressure supply)
EXH EXH
PV - PV
QPS PD |nd|v'|:d|;al spacer R1 *QE% PD
PE PE ;tw —
il A
PS 7= PS oy ! \ <
PV % Indl\é\g’u;gr\{acuum[}‘ % 1 ’I
y &<V Dummy spacer R16 == ‘ PV
PD PD i
|
k%i Z%; !
PE = PE
@L -
] E
PSx< S ¢ —
™ <<V Dummy spacer R16 = v
PD T PD =114
External release External release P
port D:l( port b} b
PE PE
Pilot port >+ Pilot port e+ A
PSS
PV

ik
PD =

Individual spacer R1 ~~
[T

PD

7
Individual vacuuml L

Individual vacuum
supply port [

supply port PV

P

X

Te

i
Individual spacer R1 —1"""] vi Rl v

|
Adapter D 7 A"_% Adapter D*r—4£ v
pvFSPD . PSPD
EXH EXH

13-2-57

O
S

i
™
Tl
v
L
o
0
*
B
200
A

Misc.




Series ZX

Vacuum Pump System Manifold: Type K1

Type K1

ZzX100-00

ZX100-K1OLO-EC-O

Supply valve m

VJ114 |

——F

225 |Pitch =21

85 ,
|
2 37.4 | 4-05.5 mounting hole
|A.‘ Pressure setting trimmer
234 32 10 ©
Manual 14 019
override ¥©
L ©
1o b
D®¥4 —E | | *7 3 8
¥ = =
o s=a Bl %‘L ~ il oy
g £ | [ a7
5 B ] R &
B L | N
1 /- _CD o
13
Manifold base
End plate (44)
£
2
ko)
9 ﬂ
£ )
Vacuum switch
Release valve 83 ﬁ il ZSE2
VJii4 3% Filter unit
Release flow rate
adjusting needle
- @ S
¥ —HAEE l
© Q\///\ | 8
N e EXH l
0 %) A
g ® f PS/[ : = ‘
Stk /W[
— PV
2-Rcls
Common EXH port
374 3, 1
2-M5 a4 2-Rcls
(PS port)

Common supply port for vacuum valve

(mm)
Symbor—>tations] 4 2 3 4 5 6 7 8
L1 33 | 54 | 75 | 96 | 117 | 138 | 159 | 180
L2 45 66 87 108 | 129 150 171 192
L3 50 71 92 113 | 134 155 176 | 197
13-2-58

O
:

(PV port)
Common vacuum supply port



Vacuum pad
connection port
M5 x 0.8

(or M6)

12

10.7

| @ M @)7\
i
45 LPitch:21 22.5

Vacuum Module: i
Vacuum Pump System Series ZX

Circuit diagram

EXH
Ves pp
A\

P
PD X—T—-—' o ko {
J%
PE ;i:uu
NP Nev]

PD %——— NN e

PE :i:uu
NP r]
[}
S

PV >+ ~
1
Nt TN Tt V

FYaY
PS PD
PV EXH

13-2-59

O
S




Series ZX

Vacuum Pump System Manifold: Type K3

O
:

Type K3
ZzX100O-00 106.7 K
ZX100-K3OOO-EO-O 61.1 " —| 4-5.5 mounting hole
451 32 Pressure setting trimmer
| 0
Manual override 14 Jo ~f| ©|
(Push and turn the \ e
locking type override.) 23 {} J ©
[ (&) % i@' Ly =
5 OL 7 > - it 1= Q
QA| ™ = —
2191 ol | 3
g ] S
BEREY N 2
it .. FI
%] . -
FanYy
Manifold base
End plate (44)
17.5 _, 10
Supply valve M M M M m
VJ324M
Manual override Release valve
VJ314 Vacuum switch
] ZSE2 )
| . ‘ Rel flow rate Filter unit
adjusting needle
Ji
| |
- t /]
%— | R PD '@
0 HH .
) & E ®
5 - Py EXH\ i
0
8 [a5] 0 ‘PS / } |
Y = Q
9 B\ ©
2-Rc 4
225 I Pitch=21] |5 a74 '3 Common EXH port
2-M5 : 44' 2-Rc s
(PS port) (PV port)
Common supply port for Common vacuum supply port
vacuum switch valve
(mm)
Symbor—Stations[ 4 2 3 4 5 6 7 8
L1 33 54 75 96 | 117 | 138 | 159 | 180
L2 45 66 87 108 | 129 | 150 | 171 | 192
L3 50 71 92 113 | 134 | 155 | 176 | 197
13-2-60




Vacuum Module: i
Vacuum Pump System Series ZX

Circuit diagram

gg;:tlo

PDX——e—— T4
i
zZL
L
za
V zF
zr
U
AMJ

il
N | X
=
P—av
vaoumpe ‘ YA o
mfhxﬂg;e P ts | B PV Ext1”
TLpses
45 Pitch =21 22.5
ZSVC 13-2-61



Vacuum Module:
Ejector System Series ZX

Manifold Phillips screw How to order (4)
How to order (6) M2.5x 63 Adsorption confirmation
Digital vacuum switch unit (For replacement) switch unit (For replacement)

ZSP1-JoX-15L]-D
Phillips screw

M2.5 x 63
How to order (5)
Vacuum switch unit (For replacement)

ZSE2-0X-1500-D

ZSE3-0X-[I[1]-D

Phillips screw Bhil
2.5x 14 illips screw
e M2.5 x 51
Filter unit (For replacement)
ZX1-F-D
Phillips screw
" P3270148-39 (M2.5 x 39)
Adapter B
P3200130-}

Phillips screw
S M2.5 x 20

M.
How to order (3)
Ejector assembly

ZX1-WDII[]

Phillips screw
\ P3200152-12
(M2.5 x 28

Adapter B

~" P3200130-P

Phillips screw
- P3200152-7

A (M2.5 x 8)

How to order (1) Valve unit M

(Supply valve: N.O.) (For replacement)
ZX1-VAK3OOOO-D-m
Phillips screw 7
P3200152-12 (M2.5 x 28)

How to order (1) Valve unit
(Supply valve: N.C.) (For replacement)

9|

B D- ZX1-R1
= VAKL%%EES&QAW / F Adapter D/ Note 1) Common EXH port is open for common EXH type and
= qm | closed for individual EXH type. Common EXH is
How to order l(:13 )2331,2%% (M2.5x26) l;g'!'pi zscrew PRSU0tGg:E applicable only to ejector system common EXH type.
(Supply valve: Air operated) (For replacement) ~X Individual spacer R1 Note 2) M5: Suffix -4, M6: Suffix -1
ZX1-VAKB-D-M P3200159-} A Note 3) M5: Suffix -1, M6: Suffix -2
Phillips screw Adapter D individual spacer R1 assembly
M2.5 x 12 Assembly no. ZX1-DR1
How to Order Unit for Replacement
(1) Valve unit + Refer to page 13-2-10 for details. (4) Adsorption confirmation switch unit
i l P Applicable .:I_ Piping .—1 I Unit for
For ejector system Allngz?tgc:ga nozzle diameter specifications replacement
Combination of supply equipped with plugs. S |20.3t000.7 Nil | Grommet (0.6 m)
valve and release valve B [005t001.2 L Grommet (3 m)
Pilot valve Unit for replacement C |Connector (0.6 m)
Voltage Manual operation CL Cpnnector (3m)
Electrical entry Light/Surge voltage suppressor S \Vithout connector

(2) Manifold base (5) Vacuum switch unit

zzx1[05H JR-A-C ZSE2—-0X—15[CI-D

Piping specifications
_Stations T X Nil |Grommet (0.6m) _CL | Connector (3 m) Ulnit for
01| 1 For ejector system L | Grommet (3m) CN |Without connector replacement
R Thread type (PD_and PS_ ports are C |Connector (0.6 m)
08 s Nil Rc s equipped with plugs.) ¢ Exhaust
— F G Supply port location Nil |Individual exhaust  (6) Digital vacuum switch unit
T NPTF Right side C | Common exhaust ZS E3_ OX | 21 | C —_ D

Unit for
replacement

Piping specifications

ZX1 _W D | [ | Connector (0.6 m)
Pressure ﬁ o
Unit for § i indication Output specifications
replacement Ejector exhaust
er 1

R

L | Leftside

) B | Both sides
(3) Ejector assembly -

) 21 2 outputs/without analog output
Nozzle diamet Built-in silencer Nil | kPa —o 2 outputs/with analog output
05| 0.5mm o | Portexhaust 23 | 1 output (with trouble detection)/without analog
07| 0.7mm Re'/s P kPa 24 | 1 output (with trouble detection)/with analog

common exhaust

10| 1.0mm 3 Manifold Q Note) Analog output is available only on grommet type.

SVC 13-2-63

O

i
™
Tl
v
L
o
0
*
B
200
A

Misc.




Vacuum Module: .
Vacuum Pump System Series ZX

. i How to order (3)
Phillips screw
Manifold How to order (6) — LIRS SOW Adsorption confirmation switch unit

v . . M2.5 x 51
Digital vacuum switch unit (For replacement) // (For replacement) ZSP1-[_1ox-151-D

ZSE3-0X-UC0-D
’//// How to order (5)
£ ~ Phillips screw Vacuum switch unit (For replacement)
’ -~ M2.5x51 T Z8E2-0X-15[1-D

o
=
e Phillips screw
3 _~P3270148-39
(M25x39)
//
i Filter unit (For replacement)

~ ZX1-F-D
" Phillips screw
" P3200152-12
(M2.5 x 28)
Adapter BNete2
" P3200130- }
Phillips screw
P3200152-7
(M2.5 x 8) Adapter B
P3200130-P

Phillips screw

-~ P3200152-7
(M2.5x 8)

Phillips screw

\ P3200162-12
(M2.5 x 28)

How to order (1) M P o %7~ How to order (2)
Valve unit (Supply valve: N.O.) / | eyl | At / Manifold base
(For replacement) 20 R ZzXx100-00-B

ZX1-VBK3OOOO-D-M

Phillips screw 3 p. /
How to order (1) FRSRITERSIE) (M2.5 X 28) / //Blanking plate assembly
Valve unit (Supply valve: N.C.) (For replacement) ’ - —7 ZX1-BM
ZX1VBKILOOO-D-M / . Individual spac?r R1
illi / ZX1-Rt 7/
Phillips screw / / 7 o

AdapterD .~/
How to order (1) P3200152-12 (M2.5 x 28) A Phillips / P32(?0159-F‘ //
Valve unit (Supply valve: Air operated) (For replacement) screw &

. 4 Note 1) M5: Suffix -4, M6: Suffix -1
ZX1-VBK6-D-M M2.5 x 12 Ph|II|F;Aszssc)r(e1v; Q Note 2) M5: Suffix -1, M6: Suffix -2
Adapter D Note 1) ’
P3200159-}
Individual spacer R1
ZX1-R1
Adapter D individual spacer R1 assembly
Assembly no. ZX1-DR1

How to Order Unit for Replacement

(1) Valve unit m * Refer to page 13-2-44 for details. (4) Vacuum switch unit
ZSE2—-0X—-15 D
ZX1-V B [LI[Z][BF-D-M
Piping specifications
Vacuum pum .
for sg?sten‘:—l— TManifoId Nil | Grommet (0.6 m) Per;zlltafgément
L (AI_I ports are equipped ) L Grommet (3 m)
Combination of supply with plugs. C |Connector (0.6 m)
valve and release valve -
Pilot valve Unit for replacement CL_| Connector (3 m)
X CN_|Without connector
m *Refer to page Voltage Manual operation
13-2-54 for details. Electrical entry Light/Surge voltage suppressor
(2) Manifold base (5) Digital vacuum switch unit

22X1[08! El:‘?‘ ZSE3-0Xx— ][21]Cc-D
Statlor:s Supply port location T

_05 : Thread type R | Rightside }'Jer;)lltafg;ment
08| 8 Nil Rc/ L Left side Piping specifications
F |l G B | Bothsides l C |Connector (0.6 m)
T | NPTF Pressure J
(3) Adsorption confirmation switch unit System for indication ¢ Output specifications

external vacuum 21 2 outputs/without analog output
ZSP1 - BOX - 1 5 D (PD portis equ'pped) Nil kPa 22 2 outputs/with analog output

with plug.
23 | 1 output (with trouble detection)/without analog

Applicable Unit for replacement P kPa - - -

nozzle diameter Piping specifications oA I24 1t ou:Put (wn.r ttr’Tubleldetectlon)/Wlthteinalog
ote) Analog o S avallable only on gromme e.

S |20.3t020.7 mm Nil | Grommet (0.6 m) Q g output is avai y ong yp

B |20.5t0 1.2 mm L | Grommet (3 m)

C |Connector (0.6 m)
CL | Connector (3 m)
CN |Without connector

SVC 13-2-65

O

i
™
Tl
v
L
o
0
*
B
200
A

Misc.




Series ZX

Vacuum Pump System/Manifold Disassembly from Individual Unit

Manifold disassembly from individual unit

1. Remove Philips screws.

2. Remove cross-recessed head machine screw for
precision machinery.

3. Mount plugs to valve unit.

4. Mount valve unit with Philips screws (P3200152-12)
3 pcs.

5. Mount vacuum switch to manifold with Philips
SCrews.
Follow tightening screw torque on Table (1).

Vacuum switch

Philips screw

Note 1)

.

Valve unit

Note 1)

Even though screw type in use differs depending on
the combination (Table (2)), screws for an individual
unit and a manifold are common.

Table (2)
Combination Part no.
Vacuum switch ZSE3, ZSP1 M2.5 x 51
Vacuum switch ZSE2 P3270148-39
(M2.5 x 39)
Filter unit ZX1-F P3200152-12
(M2.5 x 28)

screw for precision machinery
P3200152-24

P3200152-12

(M2.5 x 28) Manifold base

Table (1)
Part no. Description Quantity| Recommended tightening screw torque | In the case of manifold Single unit
Note 1) Philips screw 2 0.28 + 0.1 (N-m) Necessary Necessary
P3200150 Plate A 1 Not necessary Necessary

Cross-recessed head machine screw

P3200152-24 for precision machinery 1 0.28 = 0.1 (N-m) Not necessary Necessary
M-3P Plug 2 0.46 = 0.05 (N-m) Necessary Not necessary
M-5P Plug 1 1.6 +0.15 (N-m) Necessary Not necessary
P3200152-12 -

(M2.5 x 28) Philips screw 3 0.28 = 0.1 (N-m) Necessary Not necessary
13-2-66

O
:



Vacuum Module: .
Ejector System Series

Ejector System/Manifold Disassembly from Individual Unit

ZX

Manifold disassembly from individual unit

Philips screw

=y

. Remove Philips screws.

2. Remove Philips screws, and then remove ejector
assembly from valve unit.

3. Mount plugs to valve unit.

4. Mount valve unit with Philips screws (P3200152-
12) 3 pcs.

5. Mount ejector assembly to manifold with Philips
screw (M2.5 x 14) 1 pc.

6. Mount vacuum switch to manifold with Philips

screws 2 pcs.

Note 1)

Even though screw type in use differs depending on
the combination (Table (2)), screws for an individual
unit and a manifold are common.

Follow tightening screw torque on Table 1.

Table (2)
Combination Part no.
Vacuum switch ZSE3, ZSP1 M2.5 x 63 Philips screw
Vacuum switch ZSE2 M2.5 x 61 M2.5 x 14

P3270148-39

Filter unit ZX1-F (M2.5 x 39)

P3200152-12
(M2.5 x 28)

Philips screw \w
Table (1) M

Manifold base

Note 1)
Vacuum switch
.
/

Part no. Description  |Quantity] Recommended tightening screw torque | In the case of manifold |~ Single unit

Note 1) Philips screw 2 0.28 = 0.1 (N-m) Necessary Necessary
P3200150 Plate A 1 Not necessary Necessary
M2.5 x 14 Philips screw 1 0.28 =+ 0.1 (N-m) Necessary Necessary
M-3P Plug 1 0.46 = 0.05 (N-m) Necessary Not necessary
M-5P Plug 1 1.6 +0.15 (N-m) Necessary Not necessary
F;:?;Zif; 2 Philips screw 3 0.28 = 0.1 (N-m) Necessary Not necessary

o
S

13-2-67

i
™
Tl
v
L
o
0
*
B
200
A

Misc.




	How to Order Ejector System Manifold
	Manifold System Circuit Example
	Ejector System Manifold

	How to Order Vacuum Pump System Manifold
	Manifold System Circuit Example
	Vacuum Pump System Manifold

	How to Order Replacement Unit
	Vacuum Pump System/Manifold Disassembly from Individual Unit
	Ejector System/Manifold Disassembly from Individual Unit



